
sd 1:O:2:8:  Isdds] Attached SCSI disk
sd t :8:7:3:  Isdgd] Attached SCSI disk
sd 1. :O:724: Isdge] Attached SCSI disk
sd 1. :Q:7:6:  Isdeg] Attached SCSI disk
sd 1:0:7:8:  Isdgi ]  At tached SCSI disk
sd t :O:7:7:  Isdgh] Attached SCSI disk
sd ! :Q:7:5:  Isdgf]  At tached SCSI disk
sd 1:0:2:1@: Isddu] Attached SCSI disk
sd 1:0:2:12: Isddw] Attached SCSI disk
sd 1:Q:7:9:  Isdgj ]  At tached SCSI disk
sd 1:@:2:7:  Isddr]  At tached SCSI disk
sd t :8:2:9:  Isddt]  At tached SCSI disk
sd 1:0:2: t3:  [sddx] Attached SCSI disk
sd 1:0:3:3:  Isdeb] Attached SCSI disk
sd 1:0:3:0:  Isddy] Attached SCSI disk
sd 1:0:2: t t :  Isddv] Attached SCSI disk
sd 1:8:3:4:  Isdec] Attached SCSI disk
sd 1:0:3:6:  Isdee] Attached SCSI disk
sd 1:0:3:5:  Isded] Attached SCSI disk
sd 1:0:3:1:  Isddz] Attached SCSI disk
sd 1:0:3:2:  Isdea] Attached SCSI disk
sd 1:0:3:7:  Isdef]  At tached SCSI disk
sd 1:0:3:10: Isdei ]  At tached SCSI disk
sd 1:0:3:8:  Isdeg] Attached SCSI disk
sd 1:O:32!2:  Isdek] Attached SCSI disk
sd 1:0:3:11: Isdej ]  At tached SCSI disk
sd 1:0:3:9:  Isdeh] Attached SCSI disk
sd 1:0:3:13: Isdel ]  At tached SCSI disk
dracut: Scanning devices sdgk2 for LVM logical volumes vg_main/lv_noot
vg_main/Iv_swap
dnacut: ldev/sdag: nead fai led after O of 4@96
dnacut: ldev/sdag: read fai led.after O of 4O96
error
dnacut:  /dev/sdag: read fai led af ter  0
error
dnacut:  /dev/sdag: read fai led af ter  0
dnacut:  /dev/sdawz read fai led af ten 0
dnacut:  /dev/sdaw: read fai led af ter  0
erron
dracut: /dev/sdaw: read fai led aften
error
dracut: /dev/sdaw: nead fai led after
dracut:  /dev/sdcc: read fai led af ter
dracut:  /dev/sdcc: nead fai led af ter
erron
dracut:  /dev/sdcc: nead fai led af ter
error
dracut:  /dev/sdcc: read fai led af ter
dracut:  /dev/sdcs: read fai led af ter

0 of 4096 at

O of 4O96 at

at
at

0:  Input/output ernon
7 997 3297 029!2 : I n put /out put

7 997 3297 6O256 i Input/output

4O96i Input/output ernon
Q: Input/output error
99966615552@ z I n put/out put

999665212864 : I n put/out put

4895: Input/output erron
O: Input/output ennon
7 997 3297 02912 : I nput/out put

7 997 3297 6@256 z I n put /output

4O96: Input/output ennon
8: Input/output ernor

of 4096 at
of 4095 at
of 4096 at

O of 4096 at
O of 4O96 at
O of 4096 at

of 4@96 at

4@96 at
4O96 at

Qof
Oof


